
FENNEC-R-MECHA-PARTS-50W
kind Part name Quant Drawing Part number Vender Material 

LABLE S/N-PALTE 1 K403E318-A MPFENR3E3180 LINTEC MP50
LABLE NAME-PALTE 1 K403E317-B MPFENR3E3171 PC 0.5
PLASTIC CABI 1 K403E201-A MPFENR3E2010 GE Cycoloy C1110
PLASTIC LIGHT-GUIDE 1 K403E306-A MPFENR3E3060 ACRYPET MD
PLASTIC VR-KNOB 1 K403E313-A MPFENM3E3130 GE Cycoloy C1110
METAL LCD-HOLDER 1 K403E303-A MMFENR3E3030 SPCC-0.5t
METAL CASE-50W 1 K403E203-A MMFENR3E2030 SECC�t1.0
METAL BRACKET 1 K403E200-A MMFENR3E2000 SPCC�t1.6
METAL MODULE-SHIELD 1 K403E309-A MMFENR3E3090 SPTE 0.5t
METAL EARTH-PLATE 1 K403E300-A MMFENR3E3000 C2680P-H�0.3t
METAL HOLDER-IC 1 K403E302-A MMFENR3E3020 SUS304 CSP-H 0.5t
METAL SPRING(D4.75) 1 K001C325-0 M3191007 PrecicoSK-5  t=0.25
SCREW SCREW-4BOLT 4 ND Screw
SCREW CF-M2.5 X 6- I- BLACK 7 ND Screw
SCREW SL-CP-M3 X 10- I-Nickel-Plating  9 ND Screw
SCREW SL-CP-M2.5X8-I-Nickel-Plating 8 ND Screw
DC HOSING- 50W 1 K403E205-B MDFENR3E2051 ADC-12 ALOGIN#1000
OTHER LCD-REFLECTOR 1 K403E304-A MPFENR3E3040 Film
OTHER DIFFUSION-SHEET 1 K403E305-A MPFENR3E3050 Film
RUBBER RUBBER-KEY 1 K403E314-A MRFENR3E3140 Silicon Rubber / Hardness 60
RUBBER SP-HOLDER 1 K403E312-A MRFENR3E3120 Silicon Rubber / Hardness 50
RUBBER CAP 1 K403E202-A MRFENR3E2020 Si Rubber / Hardness 60 blac
RUBBER DC-BUSH 1 K403E500-A MRFENR3E5000 PVCBlak / Hardness 80

POW-CABLE-ASSY 1 K403E501-B WAFENR3E5011 Wire
RUBBER RUBBER-CNNECTOR 1 K403E307-A MRFENR3E3070 Zebra Rubber Connector
RUBBER SP-RUBBER 1 K403E311-A MRFENR3E3110 CR Rubber
METAL VCO-SHIELD 1 K403E319-A MMFENR3E3190 C2680 t=0.3 Tin Plating
ASSY WINDOW-ASSY 1 K403E320-A MAFENR3E3200
TAPE DOUBLE FACE TAPE 1 K403E301-A MTFENR3E3010 G9100 Double face tape
PLASTIC WINDOW 1 K403E308-A MPFENR3E3080 Urethane Plastic / Clear
METAL RING-NUT-M7 1 K403E321-0 MMFENR3E3210 Brass

ACC-CABLE-50W K403E401-B ACFENR3E4011

RF-PCB
DISP-PCB-OUTLINE 1 K403E502-A UNFENR3E5020
VR-PCB
LCD-RELM 1 K403E505-A LCMFNR3E5050
LCD-WIRING-DIAGRAM K403E506-A



LCD-SEG-NO K403E507-A
LCD-ART-WORK K403E508-A

KEY-ART-WORK
NAME-ART-WORK



Processing Remark

Serial Number
SOKEN TAPE A7900 History-28
HN2004S Black-OK1373
HN1012
HN2009G Black-OK1373

History-30
Philips/Flat/Iron/Mecha/M2.6X4/Black plated History-21
Philips/Pan/Iron/Mecha/M3X10/Spring washe/Washe/Ni plated History-21
Philips/Pan/Iron/Mecha/M2.5X4/Spring washe/Washe/Ni plated History-21

History-28
Nichibei Parts/RW188 t=0.188
Nichibei Parts/75PBA t=1.0
0�
0
ck

History-23

MTFENR3E3010+MPFENR3E3080 History-21
History-21

Degreasing History-25
History-23



FENNEC-R-MECHA-PARTS-50W
kind Part name Processing 

LABLE S/N-PALTE Serial Number
LABLE NAME-PALTE SOKEN TAPE A7900
PLASTIC CABI HN2004S Black-OK1373
PLASTIC LIGHT-GUIDE HN1012
PLASTIC VR-KNOB HN2009G Black-OK1373
METAL LCD-HOLDER
METAL CASE-50W
METAL BRACKET
METAL MODULE-SHIELD
METAL EARTH-PLATE
METAL HOLDER-IC
METAL SPRING(D4.75)
SCREW SCREW-4BOLT
SCREW CF-M2.5 X 6- I- BLACK Philips/Flat/Iron/Mecha/M2.6X4/Black plated
SCREW SL-CP-M3 X 10- I-Nickel-Plating  Philips/Pan/Iron/Mecha/M3X10/Spring washe/Washe/Ni plated
SCREW SL-CP-M2.5X8-I-Nickel-Plating Philips/Pan/Iron/Mecha/M2.5X4/Spring washe/Washe/Ni plated
DC HOSING- 50W
OTHER LCD-REFLECTOR Nichibei Parts/RW188 t=0.188
OTHER DIFFUSION-SHEET Nichibei Parts/75PBA t=1.0
RUBBER RUBBER-KEY
RUBBER SP-HOLDER
RUBBER CAP
RUBBER DC-BUSH

POW-CABLE-ASSY
RUBBER RUBBER-CNNECTOR
RUBBER SP-RUBBER
METAL VCO-SHIELD
ASSY WINDOW-ASSY MTFENR3E3010+MPFENR3E3080
TAPE DOUBLE FACE TAPE
PLASTIC WINDOW
METAL RING-NUT-M7 Degreasing

ACC-CABLE-50W




